HIWIN.
K02TE10-1301 9

Industrial Robot
KK Series

HIWIN KK industrial robot modularizes both ballscrew and guideway to achieve better performance on accuracy,
stiffness, raipd installation, and space saving.

With the block of KK driven by ballscrew and sliding on the optimized U-rail, greater stiffness and high accuracy are
therefore performed.

1.1 Features

O An integrated system
O Easy installation and maintenance
O Compact and lightweight
O High accuracy
O High stiffness
O Complete selection of accessories for
most applications. el

Grease nipple \
Block ) |

Tail housing

)




HIWIN.
10 Ko02TE10-1301

1.1.1 Modurization

The KK industrial robot integrating ballscrew and guideways becomes a modularized product. The
modularized design can help customers saving time, cost and system inspection; therefore, installation
efficiency and space-saving are also promoted.

KK industrial robot:

1 Ballscrew +
1 Rail

Traditional linear stage:

1 Table +

2 Guideways +
1 Ballscrew +
1 Base

1.1.2 Equivalent Load

Gothic arch contact design sustains load
from all direction and offers high rigidity and
accuracy.

1.1.3 High Stiffness

By U-shaped cross-section and analysis with software of finite element method, volume and rigidity are
made balanced; therefore, rail for high rigidity, compact design and light weight are also accomplished
simultaneously.

Moment of inertial Unit:mm¢ Y axis
Model no. I Iy ‘
KK40 3.533x 107 5.317x 10¢ ' Center of gravity
KK50 9.6x 10 1.34 x 10 ! /
KK60 2.056x 10¢ 2.802x 107 rek | ﬁ
KK84 7445 x 10 1.134 x 106 . 1/ _ &
KK100 1.296 x 108 2.035x 10¢ 4} ''''' T Atb Xaxis
KK130 2.546 X 10° 5.073 x 10° |

Ix : Moment of inertial computed about X axis

lv : Moment of inertial computed about Y axis

1.1.4 Various Specification

KK industrial robots of various specification are developed, providing customers with choices in different
space and loading conditions.

Model no. w H f y |
KK40 40 20 | @ il

KK50 50 2 i ai

KK60 40 33 =
KK86 86 46 ]\.I_’L/r

KK100 100 55 1 T I
KK130 130 65 ‘ w




HIWIN.
K02TE10-1301 11

1.2 Accessories

Accessories of KK industrial robot are also supported for specific demands, such as alluminum cover, bellows,
motor adaptor flange and limit switch.

O Alluminum cover and bellow: contamination protection.
O Motor adaptor flange: connection for different types of motors.
O Limit switch: starting point, positioning and other safety matters.

Aluminum cover

sCover

*Bellows




HIWIN.,
12 K02TE10-1301

1.3 Model Number of KK Series

Example: KK6010P-400A1-F1CS0

KK 60 10 P E - 400 E A 2 E - FO C SO M
| |

KK Stage M:Supply With Motor
None:Without Motor

Nominal Width:

40, 30,910, B, Limit Switch:

100, 130 S0: Switch Rail Only

S1: Omron SX671

Ballscrew Lead:— S2: Omron SX674

EE 23 ; S3: SUNX GX-F12A

KK 60:5. 10 S4: SUNX GX-F12A-P

KK 86 : 10, 20 None: No Limit Switch and Rail
E& ::gg gg — C: Aluminum Cover

B: Bellows
None: Normal Type

Accuracy Grade:
P: Precision, C: Normal

; —— Motor Adaptor Flange
E: Ballscrew Special Order —— ref. catalog (P.6~P.9)

None: Normal Type

E: Block Special Order
None: Normal Type

Rail Length (unit : mm)
KK40 : 100, 150, 200
KK50 : 150, 200, 250, 300
KK60 - 150, 200, 300, 400, 500, 600 Number of Blocks: 1 or 2
KK86 : 340, 440, 540, 640, T40, 940

KK100 : 980, 1080, 1180, 1280, 1380 El?;':rggf
KK130 : 980, 1180, 1380, 1680 et
: ort

E: Rail Special Order
None: Normal Type




1.4 Specifications

Model No.

KK4001

KK5002

KKé005

KK6010

KK8610

KK8620

KK10020

KK13025

Precision

Normal

Precision

Normal

Preccision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

HIWIN.

KO2TE10-1301 13

Me
“ j//-'_.---' ““\\ﬁ
——] — [
it | .
3
== AR
Ballscrew Guideway
Basic Basic Static Rated Moment
Dynamic Static
Nominal Lead Basic Basic Laad Load Allowable Static Allowable Static Allowable Static
Diameter [mm| Dynamic Static Rating Rating Moment M, [N-m] Moment M, [N-m] Moment M [N-m]
{mm] Load  Load (N N] [pitching) [yawing) [rolling]
(] (M)
Block Block Block Block Block Block Block Block Block Block Block Block Block Block Block Block
A 5 A S Al A2 ST 52 A1 A2 51 52 Al A2 51 52
735 1538
8 1 3920 - b4bB - 33 182 - - 33 182 - - 81 182 - -
676 1284
2136 3489
8 2 8007 - 12916 - 116 545 - - 116 545 - - 222 444 - -
1813 2910
3744 6243
12 5 13230 7173 214462 11574 152 760 72 367 152 760 72 347 419 B3B 241 4B2
3377 5625
2410 3743
12 10 13230 7173 21462 1574 152 760 72 367 152 TeD 72 367 419 B3B 241 4B2
2107 3234
7144 12642
15 10 31458 21051 50764 29475 422 3050 166 1309 422 3050 166 1309 1507 3014 B4T 1694
6429 11387
AbLH  THED
15 20 31458 21091 50764 29475 622 3050 166 1309 4622 3050 166 1309 1507 3014 B4T7 1694
4175 4889
7046 12544
20 20 39200 - 63406 - 260 4763 - - 960 4763 - - 2205 4410 - -
4782 9163
7897 15931
25 25 48101 - B4BZ9 1536 7350 - - 1536 7350 - - 3885 7770 - -
7092 14352



HIWIN.,
14 K02TE10-1301

1.5 Accuracy Grade

Unit : mm
Rail Repeatability Accuracy Running Parallelism  Starting Torque(N-cm)
Model
Length Precision Normal Precision Normal Precision Normal Precision Normal
100
KK4&0 150 +0.003 +0.01 0.020 - 0.010 - 1.2 0.8
200
150
200
KK50 +0.003 +0.01 0.020 - 0.010 - 4 2
250
300
150
200
+0.003 +0.01 0.020 - 0.010 = 15 7
300
KK&0
400
500
+0.003 =0.01 0.025 - 0.015 - 15 7
600
340
440
+0.003 +0.01 0.025 - 0.015 - 15 10
540
KK86
640
740 +0.003 +0.01 0.030 - 0.020 - 17 10
940 +0.003 +0.01 0.040 - 0.030 - 25 10
980
+0.005 +0.01 0.035 - 0.025 - 17 12
1080
KK100 1180 +0.005 £0.01 0.040 - 0.03 - 20 12
1280 0.045 0.035 23
+0.005 +0.01 - - 15
1380 0.09 0.04 25
980 0.035 0.025 25 15
1180 +0.005 +0.01 - -
KK130 0.04 0.03 25 15
1380

1680 +0.007 +0.012 0.03 = 0.04 = 27 18



HIWIN.
KO2TE10-1301 15

1.6 Maximum Speed Limit

Ballscrew Lead Rail Length Speed [mm/sec]
A (mm)] (mm) Precision Normal
100 190 190
KK40 01 150 190 190
200 190 190
150 270 270
200 270 270
KK50 02
250 270 270
300 270 270
150 550 390
200 550 390
300 550 390
05
400 550 390
500 550 3%0
600 340 340
KK60
150 1100 790
200 1100 790
10 300 1100 790
400 1100 790
500 1100 790
600 670 670
340 740 520
440 740 520
10 540 740 520
640 740 520
740 740 520
940 610 430
KK86
340 1480 1050
440 1480 1050
540 1480 1050
20
640 1480 1050
740 1480 1050
940 1220 870
980 1120 800
1080 980 800
KK100 20 1180 750 750
1280 510 630
1380 440 530
980 1120 800
1180 1120 800
KK130 25
1380 830 800

1680 550 550



HIWIN.,
16 K02TE10-1301

1.7 Life Calculations

1.7.1 Service Life

Under repeated stress between raceway and rolling elements, pitting and flaking occurs while reaching
fatigue failure. Service life of KK industrial robot is defined as the distance traveled before any failure of
raceway and rolling elements appears.

1.7.2 Nominal Life (L)

The service life varies greatly even when the KK units are manufactured in the same way or operated
under the same conditions. For this reason, nominal life is used as the criteria for predicting the service
life of a KK unit.

1.7.3 Nominal Life Calculation of KK Unit

The calulating formulas is divided into two parts, including guideway and ball screw which will obtain
two different values. The smaller value would be suitable for the nominal life of KK unit.
Formulas of guideway and ball screw nominal life depend on several parameters and are shown as

follow:
Guideway
ﬁ C 3 L : Life Rating (km] C : Basic Dynamic Load Rating (N]
L= ( - ) x 50km £ : Contact Coefficient (ref. Table 1) P, : Calculated Loading [N
ﬂ’ P, fiw © Loading Coefficient [ref. Table 2]
Table 1
Block type Contact Coefficient f;
Al,51 1.0
A2, 52 0.81
Table 2
Operating Condition Loading
Thrust and Vibration Velocity (v] Coefficient /..
No Thrust V<15m/min 1.0~15
Low Vibration 15m/min<V<60m/min 1.5~2.0
High Vibration V> 60m/min 2.0~-35

Ballscrew and Bearing

v 3
1 CH . L : Life Rating [rev.) C, : Basic Dynamic Load Rating [N]
L= ( f : P ) x 10%rev Jw @ Loading Coefficient [ref. Table 2] P, , : Axial Loading [N)

Jw a.n



HIWIN.
KO2TE10-1301

1.8 Lubrication

Insufficient lubricating of guideway would lead to reduction of service life.
The lubricant provides functions including:

® Reducing rolling friction and avoiding abrasion

® Providing lubricating film and extending service life

® Anti-rusting

1.8.1 Lubricating Grease

Re-lubricating KK industrial robot for every 100 km is recommened. Generally, lubricating grease is applied for
speed under 60 m/min. For operating speed over 60 m/min, grease with higher viscosity could be used.

100 x 1000 T : Lubricating frequency [hrs)

T i
V. x 60 Ve ; Speed (m/min)

1.8.2 Grease Nipple

1 Block

+ O [els]e | (@ i+
¢ @ [o+Ts | P& e

: /
Grease nipple —

— Grease nipple

2 Blocks )
% 1 o[+]e | o[+]e o fle [ ]
L AlRTelll[el+Tesl P 4

Grease nipple

17



HIWIN,

18  KO2TE10-1301

1.9 Dimension
1.9.1 Without cover

KK&40

4£-M3x0.5Px4.5 DP 58 Ir2xt_‘|-@3_‘.=‘.THRU_.'B&g.Sx:! DP
33 /
2x2-M3x0.5Px6 DP 25 _ . 2x2-M2.6x0.45Px4DP |\ [T 29 " [ 5.
e " — [T
1 /1 I I R
T @ 0 [2lele] @ d]® =]
a[ + Ve e —1 &
el & (Sl IH® Ule s
/] i
I
2-M2.6x0.45Px4.5 DP 10x1.2 DP 3
SECTION A-A 5 L2 5
L1
g 49 =
32 25 _
4-M3x0.5Pxé DP 143
'PCD 10 Bl
" .
l f H—Tl N 3
/L ] 'I 11 , g
_H.p_._ﬁ_r | 4% e :.:f VIEW B
T L o W
N} ‘ 1 = 5
‘ 0 ©
| [n-11x60
RailLength Total Length Maximum Stroke (mm) Mass (kg)
Sinte L1 G [mm) n
L2 mm) A1 Block A2 Block A1 Block A2 Block
100 159 36 - 20 2 0.48 -
150 209 86 34 15 3 0.6 0.67
200 259 136 84 40 3 0.72 0.79
KK50 4-Mx0.7Px6.5 DP a0
2x2-M2.6x0.45Px4 DP % /2""‘@"'5 THRL S Or
2x2-M3x0.5Px 8 BP\ \ 30 /
35 \%L fi
25 ¥ /L ¥
: @ | dlele[]H @/ e@—-
— = <
S e rdw J_ ''''' —I— | [ B T TS
O g Ly e S @1 el llr ® 1 N
L |25 125~ nl : il
50 N 2-M3x0.5Px4 DP, 15%x1.3 DP ‘ 5.7
SECTION A-A v - 5% e
L
&0
& . 34 _
4-M3x0.5Pxé DP 16.5
PCD 33 | 10 10]
II /\ |_—
I| i A
o0 | | B e KR —
8l 4_;{@&_[ 3 T : ¥ = t ¥ ViEws
O* L \ﬁ T }5. [o) E;J'I C:* T J;r T |'! ~ T = Q
\ = 80 6 B
VIEWB (n-1)x80
Rail Length Total Length Maximum Stroke (mm) Mass [kg)
fen) L1 lear) G(mm)] Klmm] n
L2 mm A1Block A2 Block A1 Block A2 Block
150 220 70 = 35 80 2 1 B
200 270 120 55 20 160 3 1.2 14
250 320 170 105 45 160 3 14 1.6
300 370 220 155 30 240 4 1.6 1.8



HIWIN.
KO2TE10-1301

KK60 (Standard)
82 4-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP i 51 b 2xn-@5.5 THRU,@9.5%4.7 DP
2x2-M3x0,5Px8 DP % - 30 7
U T T
s © | ©of eI (¥ gl e i
il 1 i ~0
nI O~ N[‘—"—'—'—r#'—'é—"—'— | =
? D= N]‘?* o0 | P ) ¢
S © [ 0f[el; ©
30 1513 | :
60 2-M2.6x0.45Px3 DP/|___15x1.5 DP 5
SECTION A-A [ K 6
[m-1)xK
7 L2 7
K]
165305
4-M3x0.5Px8 DF m 58
p >
/\%‘f} m FW—FE;%_'—“ uJ ] g
o ) o | —ee P OIS (A t3e views
= ﬂ-l = » Ifl.l " i I I M :____ 8
- Rl 1 5 S = N L g
_| m‘ —A 3
4-Méx0.7Px8 DP e 100 6
PCD 40 [n-1x100
VIEW B
RailLen?th Total Length Maximum Stroke (mm) Bl K b - Mass (kg)
L2 (mm L1 (mm) AlBlock A2 Block AlBlock A2 Block
150 220 60 = 25 100 2 ) 15 =
200 270 110 = 50 100 2 2 18 "
300 370 210 135 50 200 3 2 24 )
400 470 310 235 50 100 4 4 3 33
500 570 410 335 50 200 5 3 3.6 39
600 670 510 435 50 100 3 6 4.2 4.6
KK&0 (Light Duty)
59 2-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 28 " 2xn-@5.5 THRU,09.5x4.7 DP
2x2-M3x0.5Px8 DP. \ ) re
) [} - T
rk ® o © {RF]R® ql e -
g X &
im0 o B ©  © qpplfe s :
30 [15]7 . i I
" ki o | 2-M2.4x04spxane/ | | 10x1.50p) A
SECTION A-A L &
x [m-1)xK 5N 7
7 L2 7
N 1 .
59
4-M3x0.5Px8 DP " 192,905
PCD 40 i il g
/ A
Y AT I | I =
2 il " = et ql (F4 95| VIEWB
o |6 | & ;"? [ | @ it ® | @ — S
“l o el 78 | [ /A | N =
! ] S j m‘ ' LA S
4-M4&x0.7Px8 DP! ' _ 100 . G ”
PCD 40 ° - {n-1)x100 _
VIEW B
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
(men] L1 (mm) G (mm) Klmm) n m
L2 mm S1Block  S2Block S1Block  S2Block
150 220 85 34 25 100 2 2 1.4 1.6
200 270 135 84 50 100 D 2 1.7 19
300 370 235 184 50 200 3 Z 2:3 25
400 470 335 284 50 100 4 4 29 % i
500 570 435 384 50 200 5 3 35 45
600 670 535 484 50 100 6 3 41 43

19



HIWIN,

20 KO2TE10-1301

KK86 (Standard) e
2xm-M2.6x0.45Px4 DP _4b _ 4-Méx1Px12 DP
2%2-Méx0.7Px10 DP 2-M2.6x0.45Px4 DP 15x2 DP 2xn-@6.6 THRU,@11x6 DP
) \u |'|" T e
@ I A D ™| @
=
1]
: e ! Ylelle
—= i
65 || "
200
SECTION A-A [I"I'I"”XZDU
87
4-M5x0.8Px10 DP #2050
~MaxU.8Fx 3.5
PCD 70 \ /\ 7 .Afé.
NEZ@ i A v - -
}3 ol 4 o I __'IL gEERE g 5% _VIEWB
N R + o i iR 8
i AT A iy Lot 8
f il l—--A g
- [n-1)x100 o
VIEW B Z L2 Al
L1
Rail Length Total Length Maximum Stroke (mm) Mass [kg)
) L9 i) Himm) n m
L2 mm A1Block  A2Block A1 Block A2 Block
340 440 210 100 70 3 2 5.7 6.5
440 540 310 200 20 4 3 69 7.7
540 640 410 300 70 5 3 8.0 8.8
640 740 510 400 20 b 4 9.2 10.0
740 840 610 500 70 7 [ 10.4 1.2
940 1040 810 700 70 9 b 11.6 12.4
KK86 (Light Duty)
84
24m-M2.6x0.45Px6 DP tsx2pp| [T | 2:MéxtPxiz0P
2%2-M4x0.7Px10 DP \ 2-M2.6x0.45Px4 DP 21.5 2xn-@6.6 THRU,@11x6 DP
2x2-M4x0.7Px10 DP. 2N DD /
60 —te \u |'|| L] L &
-4 @ .I.' @E & _@/ i
¥ o | —————— | F— I 1
3 ¥ 3 b 5 I = - T8
e 2 @® &1 [+le | O !
46 _|20 —ie 4
86 n 65 || 7.5
~ 200 H
SECTION A4 [m-1]x200 6.5
87
4-M5x0.8Px10 DP 250
4-MaxU.eFx10 DF 3.5
PCD 70 Y /\ 13 %
S iy T
\;éo"\ W A u'-m_l | o
. ’F%_h gl 2l 35| views
3 _ I 8w N .f!.'l N —— +' = T
e/ ] U oy ' =12
= = N " I s
/ f SN m‘
[/4-M4x0.7Px8 DP _ 100 gy =
PCD 40 s [n-1)x100 -
L2
VIEW B j i |
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L 20mm 11 (mml Hlmm] n m
mm S1 Block S2 Block S1Block S2 Block
340 440 246 170 70 3 2 b4 59
440 540 346 270 20 4 3 6.6 7.1
h40 640 Lbb 370 70 5 3 77 82
640 740 546 470 20 6 4 8.9 9.4
740 840 bbb 570 70 7 4 101 10.6
940 1040 846 770 70 9 5 11.3 11.8




HIWIN.
KO2TE10-1301 21

142.6
- 5
- 20 4-M8Bx1.25Px15 DP
4-M30.5Px6 DP. : Tal 2xn-@9 THRU,@14x8.5 DP
g == 4 7 mO
@ @ Ol eEId T @
_II — T _E)_ — %_ E
= I: ® [ Alemelp o -
b I|| i L ﬁ
100 < 75 L. 8
: 200 gl H ol i
SECTION A-A pge—
94
27 45
4-M5x0.8Px10 DP 2
15 22|
M [—A H N
N T - u VIEW B
5 "l + ||I + + ]
! |1_ | 1| |1_|_|| TIT | |1_ T A =
f 1T I_-_A é Ea
- 150 N S
[n-1)x150 (=]
L2
L1
RailLen?th Total Length Maximum Stroke (mm) & tn) | Bimm) o i Mass (kg)
L2 (mm L1(mm)]  A1Block  A2Block Al Block A2 Block
980 1089 828 700 40 90 T b 18.6 20.3
1080 1189 928 800 15 40 8 6 20.3 22.0
1180 1289 1028 900 65 20 8 b 22.0 237
1280 1389 128 1000 40 40 9 7 23.6 25.3
1380 1489 1228 1100 15 90 10 1 253 270
KK130 . 157 5
18 _
2xm-M2.6x0.45P x4 DP\ 4£-M3x0.5Pxé DP ‘iux;nnp-" 4-M10x1.5Px20 DP
S Rm i \ ; s 2xn-011 THRU,017.5¢10.5 DP
;: ] | i - [
= & | ® [Ipuesl &0 —
AR o — T — — | — 1 | o
s (L ¥ Tiaee - 1 &= ; bd) T8
Wk o) =1 U
Trﬂj lu uT Ni @ I|I|| @ $ ﬂ $ @ ] ]
70 _[30) | id N hdlj)
130 bt 1t
5 12
SECTION A-A 200 H 9
[m-1]x200 i
100 _
8-Msx1Px12 DP 35__35, 3.5
18 16
18 126l
v A v (i
— ¥ L A || — H g
o = = - "4|—[1u_ - — I o 53| _VIEWB
= N . . R 0 =1— g 8
. = _ll .|| - jl _____ ll-l.ll ________ :“ B -l.l Tl __________ ]I_F ] :l ! =] =
: .- 150 6 5
- (n-1)x150 e &
L2
]
RailLenFth Total Length Maximum Stroke (mm) &l Bimak 5 o Mass [kg)
L2 (mm L1 (mm] A1Block A2 Block A1Block A2 Block
980 1098 811 659 40 90 7 5 29.4 323
1180 1298 101 859 65 90 8 b 34.3 372
1380 1498 121 1059 90 90 9 7 39.2 421
1680 1798 1511 1359 90 40 " 9 46.5 49 .4



HIWIN,

22 KO2TE10-1301

1.9.2 With cover

KK&0

2x2-M3x0.5Px4 DP
—

-

4-M4x0.7Px14 DP

f2xn-ﬂi’..& THRU,@6.5x3 DP

"

_2x2-M2.6x0.45Px4 DP

|
? &
49
12 . 25 _
4-M3x0.5Px6 DP 145
- 10 = 8
i [5 ;
4L | T
=] : .
3 & _.'_'_‘I=C|-|—I ! —"=q_ & I — ‘:»:r' VIEW B
SI* [N /[ : LH Hd H Lol =
! - S
d 50 G 8
[n-1)x40
RailLength Total Length Maximum Stroke (mm) Mass kgl
L2(mml L1 (mm) Glmm) B
Al Block A2 Block A1 Block A2 Block
100 159 36 - 20 2 0.55 -
150 209 86 34 15 3 0.68 0.76
200 259 136 84 40 3 0.82 0.89
62 1? 4-M4x0.7Px10 DP
S /7
-5 - 2x2-M2.6x0.45Px4 DP 30 24n-04.5 THRU,@8x4 DP
— 9
———— __[ ____""%__i
i ' f A5G =
R — @ | S
il Wy e =3
L 25 [12.5 ,..‘
T80 T |~ : 5.7
SECTION A-A ‘ 2x2-M3x0.5Px4 DP._| 8| *
i K ol Bl
L2
1
. 60
T4 34
4-M3x0.5Px4 DP 6.5
' 10 A 10
F i | o I Tl
o if i i ol _
- g = = | | al s a — 33 _VIEWB
T it AR - i O—————1 o — )
7! 11 | T z
i 80 G 8
[n-1)x80
RailLength Total Length Maximum Stroke (mm] Mass [kg)
Glmm] Klmm] n
L2 [mm? L1 (mm) A1 Block A2 Block A1 Block A2 Block
150 220 70 - 35 80 2 11 -
200 270 120 55 20 160 3 1.3 1.5
250 320 170 105 45 160 3 1.6 1.8
300 370 220 155 30 240 4 1.8 2.0



HIWIN.
KO2TE10-1301

KKé0 (Standard)
82
2x2-M2.6x0.45Px6 DP 3% _4-M5x0.8Px8 DP
L ;
- 52 - 2xm-M2.6x0.45Px4 DP 47 2xn-@5.5 THRU,29.5x4.7 DP
F. b4 ._‘ \ T &
——————— il o Bl ol s [ [ ity
——— b T A ——— 3
? % & | C% 0N 3[_:! | l_"‘jlu_’b_.ﬂ:ﬂ* e T
|ty ) S ——— g | =2
e e e e =
I AL T I Y .
Lol oo o o e Moo o Lt
4 [o++o s
K 6
[m-T]xK
L2
1
18.5 gg L]
4-M3x0.5Px8 DP TR
PCD 40 ] n A B2
R —
] .'” : ML = __?
3 L ﬂ% 3 ________Ir;__':ﬂ—l ilil u_____l'-[_ | l——1 ?J VIEWB
bl & | * i - [ * - &
aE 3 i T | T 1=
- | »\.\‘% . LLT 4 LLT l_-_ LLT g
Aaxo.zexe 0P J/ 2 Aoo 6 ®
PCDAD oo i TIn-1)x100 T -
Rail Length Total Length Maximum Stroke (mm] Mass (kg)
(rira U4 [rare] GImm] Kimml] n m
L2 mm A1 Block A2 Block A1Block A2 Block
150 220 60 - 25 100 2 2 1.7 >
200 270 110 - 50 100 2 2 2 <
300 370 210 135 50 200 3 2 27 3.0
400 470 310 235 50 100 4 4 3.3 3.6
500 570 410 335 50 200 5 3 39 4.2
400 670 510 435 50 100 3 & 4.6 5.0
KK&0 (Light Duty)
59 2-M5x0.8Px8 DP
%_ .
86
B 7% "‘ 2xm-M2.6x0.45Px4 DP H—‘L 2xn-@5.5 THRU,@9.5x4.7 DP
"—“‘u.
w!E!EV]
2 il Al 1=
qﬁ : T = T‘fsq—g]m A : | e || - I 17
s o i UL v it
30 15| 3 e e e e
50 « l |(_ﬁ | 5
o 2-M2.6x0.45Px6 DP/ _|8
SECTION A-A
| K G
[m-TxK
- Lz -
ta E1 |
59
18.5 1530_5
1 15,5
A 9
. o | ILI
i : f s
- _ s i M—" [ S¢| _ViEws
' " | S N N {1
f i hr o T Do g
4-M&x0.7Px8 DP| =] L. 100 . 6
PCD 40 [n-1]x100
VIEW B
Rail LenFth Total Length Maximum Stroke (mm) Gt (Kl i e Mass (kg)
L2 (mm L1lmm)  s1Block  S$2Block S1Block 52 Block
150 220 85 34 25 100 2 2 1.6 18
200 270 135 84 50 100 2 2 19 2.1
300 370 235 184 50 200 3 2 25 27
400 470 335 284 50 100 4 4 3: 3.3
500 570 435 384 50 200 5 3 3.7 39
600 670 535 484 50 100 6 6 4.4 4.6

23



HIWIN,

24 KO2TE10-1301
KK86 (Standard) 1
75
4-M2.6x0.45Px6 DP | 4b  4-Méx1Px12 DP
2xm-M2.6x0.45Px4 DP i S - ., 2xn-@6.6 THRU,@11x6 DP
) D oo @
i —T | ¥ 7 @Z %
' o Hi* 25 il i
be=====slbe==d FT—F— E=ma=a=ail
Tl S & _|—11|;‘_T_‘_ == e
=] ! I |
9_-3«:] : 5o E}L: 4 JIH:_ ‘11' |
®|_ ! PP VI L S e T @
" I TN
- 200 ~H
SECTION A-A (m-1]x200
87
4-M5x0.8Px10 DP 7 50
FRTIALLOEX 28 3.5
PCD 70 N 13 - 2
T W “Fa M
\ 2\ I Iy U - =
3 ° L | — 3
3 N CE——— == . — - =: e
= 7, / o | o + ,|| | + I 8
L o Jo o Y o T A L——— 1
1 L = L “\\f%}f it 1 5:-
f f %, 1 ‘ ——A @
/4-M£x0.7Px8 DP ™/ 100 70 S
PCD 40 | (n-1)x100
L2
VIEW B I i )|
Rail Length Total Length Maximum Stroke (mm)] Mass (kg)
Lx [mmlg L1 Himm) o o
mm) Al Block A2 Block Al Block A2 Block
340 440 210 100 70 3 2 6.5 7.3
440 540 310 200 20 4 3 7.8 8.6
540 640 410 300 70 ] 3 9.0 9.8
640 740 510 400 20 6 & 10.3 11.3
740 B40 510 500 70 i 4 11.6 12:4
940 1040 810 700 70 9 b 13.0 13.8
KK86 (Light Duty) w
112 4-M2.6x0.45Px6 DP 213 | 2-Méx1Px12 DP
109 2xm-M2.6x0.45Px4 DP 2 2xn-@6.6 THRU,@11x6 DP
90 <ér
= = =i} ==
T i i, gt - |_1_L¥Z____"__J@
Q i M it it S AN B el I I
JEP ﬁrf? L 1““‘:;* “““““gﬁ'f R ﬁé:::::i; I
L LY - I______'__|I,I_ _____ I S 20
46 (20 @ i JL_!-- — __L_-IL @
86 n Lo | 7.5
< 200 H
SECTION A-A [m-11x200
87
4-M5x0.8Px10 DP #. 90
&-MuoxU,orx 10 DF 3.5
PCD 70 \ 13 A ..2;13. ._‘._.
T — I
s\ © Y S e— 3 53
g-— ) K—")) ! ag 4 | c":i“ N pLC— i 6 2
l lb.,,.._._..‘g‘ — :’.ﬁ; b - |T'|| IIII |'r'|I : l|"|I l l [=] 2
/' = [ Y 5
/4-M4x0,7Px8 DP 100 70 S
PCD 60 - [n-1]x100 -
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm) Himml n 0 Mass (kg)
L2 (mm L1(mm)  s1Block S2 Block S1 Block S2 Block
340 440 246 170 70 3 2 63 71
440 540 346 270 20 4 3 1.6 8.4
540 640 4hb 370 70 5 3 8.8 9.6
640 740 546 470 20 b 4 101 1.1
740 840 b4b 570 70 7 4 1.4 122
940 1040 B4b 770 70 9 5 12.8 13.6

VIEW B

VIEW B



HIWIN.
KO2TE10-1301 25

92

142.6
95
124 4-M3x0.5Px6 DP 50 4-M8x1.25Px15 DP
s 2xm-M2.6x0.45Px4 DP e |8| g 2xn-@9 THRU,@14x8.5 DP
& es HF
@ ] = il ] = | b ] @]
[ i J! | 2 b | !E RP/ -
i e o R - _El g
= thI T —Spf TS T : .||
|"' & I I Bl wpae (0 @ |l
T | i | | g el
- if B e & ] 8
200 H
SECTION A-A [m-11x200
94
4-M5x0.8Px10 DP 21 3‘5
/PCD 70 15 —a %
o | B : g ¥ -
J .- \ " . [ T u = VIEW B
B - -1 + N % L + B Pl =
8/ 1 7 .'l.'l T Tt 1 —
N f 4 Y &3
VIEW B 150 G 5
” (n-1)x150 | g
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
( G [(mm) H [mm) n m
(0] (o] 0cC 0C
L2 (mm L1 (mm] A1 Block A2 Block A1Block A2 Block
980 1089 828 700 40 90 7 5 20.4 221
1080 1189 928 800 15 40 8 & 22,2 239
1180 1289 1028 900 65 90 8 6 24.0 257
1280 1389 1128 1000 40 40 L 7 257 274
1380 1489 1228 1100 15 90 10 ¥ 275 29.2
157
108
170 4-M3x0.5Px4 DP 50 4-M8x1.25Px45 DP
8
11201 | w\ F fz)m-onTHRU,m?.wa.SDP
T L] 1 — — — ¥ il J—‘[|
|| EI____“_ & T = = — = '®
= L A E R R o r
|ﬂ b” I____“______E”f_'%\ ":___ o
~ S o o I____n_____ — — B - B 2
5 o o il ] SN & | Tﬂ“ ;__ﬁ:ﬁ? I &;TJ. -
Ei [ | G ;
T ket e ASTFIET el
I 130 __ ) ) % . L
SECTION A-A 200 H
8-Méx1Px12 DP lm-11x200 100 "
29 ’
18 =
18
{F '_TlA T'T T
: IR =
- - [ i b '11',': ; 11l 1t | 1 i cg? VIEW B
k([ "I il i ; W 8 S
1 J L i L] | L 0 L_]_| i
'f t H La 150 G 5
[n-1)x150 &
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2 [mm? L1 el G (mm) H(mm) n m
Al Block A2 Block Al Block A2 Block
980 1098 811 659 40 90 7 5 319 359
1180 1298 1011 859 65 90 8 b 374 411
1380 1498 121 1059 90 90 9 i 422 46.2
1680 1798 1511 1359 90 40 1" 9 499 53.9



HIWIN,

26

KO2TE10-1301

1.10 Motor Housing and Motor Adaptor Flange
1.10.1 Motor Selection

HIWIN Mikrosystem Servo Motor

Motor
Output

100W
200W
400W
750W

Motor (kg)

FRAC101022 0.6
FRAC102022 1

FRAC104022 1.45
FRAC107522 2.66

Weight

KK40
F2

Mitsubishi Servo Motor

Motor
Output
50W
100w
200w
400W
750W

Motor (kg)
HF-KP0O53  0.35
HF-KP13 0.56
HF-KPZ23 0.94
HF-KP43 1.5
HF-KP73 29

Weight

KK&0
F1
F1

Panasonic Servo Motor

Motor
Output

Motar (kg)

MSMD5AZP1 0.32
MSMD5AZP1 0.32
MSMDO011P1 0.47
MSMD012P1 0.47
MSMD021P1 0.82
MSMD022P1 0.82
MSMDO41P1 1.2
1

2
M5SMDD8251 2.3

Weight

KK40
F2
F2
F2
F2

Yasukawa Servo Motor

Motor
Output

50W
50W
50W
100W
200W
400W
750W

Motor

SGMAV-ASADAS]
SGMAV-ASADA2ZC
SGMAV-ASADA2]
SGMAV-01ADAG4
SGMAV-0ZADASS
SGMAV-04ADA6S
SGMAV-08ADAGT

Weight
(kg)

03

0.3

0.3

0.4

09

1.2

2.6

KK50

F2

KK50

F1
F1

KK30

F2
F2
F2
E2

Flange Selection

KK60
F2

KK86
F3
FO
FO

KK100

FO
FO
F1

Flange Selection

KK60
F1
F

KK86
F2
F2
FO
FO

KK100

FO
FO
F1

Flange Selection

KK60
F2
F2
F2
F2

KK86
F3
F3
F3
F3
F1

KK100

F2

Flange Selection

KK40 KK50 KKé60 KK86

F1
F1
F1
B

Bl
F1
F1
F1

F1
F1
F1
F1

F2
F2
F2
F2
FO
FO

KK100 KK130

FO F1
FO F1
Fl.  F2

KK130
F1
Eil
F2

KK130

F1
F1
F2

KK130

F4

+Brake
Weight
(kg)

0.75
0.89
1.6
21

+Brake
Weight Driver
(kg)

Weight
(kg)

MD-36-S 1.25

+Brake

Weight Driver
(kg)
0.75 MR-J35-104
0.89 MR-J35-10A
1.6 MR-J35-204
24 MR-J35-40A

4 MR-J35-T0A

+Brake
Weight
(kgl
0.53
0.53
0.68
0.68

1.3

1.3

1.7

Driver

MADDTI103
MADDT1205
MADDT1107
MADDT1205
MADDT2110
MADDT1207
MADDT3120

=
~1
=
=
o ]
E;
.
1
=

3.1 MADDT3520

Driver

SGDV-R70AD1A
SGDV-R70ADTA
SGDV-R70AO01A
SGDV-RI0ADTA
SGDV-TR6AD1A
SGDV-2RBA01A
SGDV-5R5A01A

Weight
(kg)

08

0.8

08

1

1.4

Weight
(kg)

0.8

08

08

0.8

11

0.8

15

Weight
(kg)

09

0.9

0.9

09

09

1.5

Remarks

220V
220V
220V
220V

Remarks

220V
220V
220V
220V
220V

Remarks

11ov
220V
11ov
220V
1oV
220V

Remarks

with key
no key

Mid inertia



HIWIN.
KO2TE10-1301 27

HIWIN Mikosystem Step Motor

Series Model Flange Selection Weight Builtin Weight Remarks
KK4D KKS0 KK60 KK86 KK100 Kkizo (K9 M (k)

ST40  FRSTO11024  F3 F3 F5 - I I 0.3 single axis
FRST021024 - : - 0.55
FRST022024  F3 F3 F5 2 " I 0.8 single axis
FRST023024 - . - 1.18 STD-24A  0.09

ST rRsT121024 - ] I 0.58 ‘
FRST122024  F3 F3 F5 > - - 0.83 axis of

symmetry

FRST123024 ; 2 - 0.21

Oriental Step Motor

Series Model Flange 3ciecion Builtin Motor :’:z;ght gt;:itelrn r:;;ght

KK40 KK50 KK60 KK86 KKI00 KK130

CSK243-AP  F3 F3 F5 z . = PK243-01A 021 CSD2109-P  0.12
CSK244-AP  F3 F3 F5 - B - PK244-01A  0.27 CSD2112-P  0.12
CSK245-AP F3 F3 F5 B - : PK245-01A 035 CSD2112-P  0.12
CSK264-AP - - F4 Fé - : PK264-02A  0.45 CSD2120-P  0.12

CSK  cskoss-aP - : Fé F6 ’ : PK266-02A 0.7 CSD2120-P  0.12

2phase o oyose-AP - - F4 Fé B - PK268-02A 1 CSD2120-P  0.12
CSK296-AP - - . - F4 F3 PK294-03A 1.7 CSD2145P 0.2
CSK299-AP - - - . FL F3 PK299-03A 28 CSD2145P 0.2
CSK2913-AP - - - - A F3 PK2913-02A 38 CSD2140P 0.2
CFK543AP2  F3 F3 F5 = - : PK543NAW  0.21 DFC5107P 0.2
CFK544AP2  F3 F3 F5 8 : . PK544NAW 027 DFC5107P 02
CFK545AP2  F3 F3 F5 - : - PK545NAW  0.35 DFC5107P 0.2
CFK564AP2 - : - F5 - - PK564ANAW 0.6 DFC5114P 0.2

CFKIl crrsesaPz - - : F5 2 . PK566NAW 0.8 DFC5114P 0.2

SPhase  cryse9AP2 - - - F5 - - PK56INAW 1.3 DFC5114P 0.2

;T:pr;mg CFK566HAP2 - - : F5 : - PK566HNAW 0.8 DFC5128P  0.22
CKF569HAP2 - > B F5 s - PK569HNAW 1.3 DFC5128P  0.22
CFK596HAP2 - : 5 - F3 - PK596HNAW 1.7 DFC5128P  0.22
CFK599HAP2 - - - - F3 - PKS99HNAW 2.8 DFC5128P  0.22
CFK5913HAP2 - - = . F3 : PK5913HNAW 3.8 DFC5128P 0.2
UMK243A F3 F3 F5 : : . PK243-01 0.21 UDK2109  0.47
UMK244A F3 F3 F5 - . - PK244-01 0.27 UDK2112 047

UMK UMK245A F3 F3 F5 - - - PK245-01 0.35 UDK2112 047

2phase UMK264A - - F4 Fé - - PK264-02 0.45 UDK2120 047
UMK266A E - F4 Fé - - PK266-02 0.7 UDK2120 047
UMK268A = - FL Fé = : PK268-02 1 UDK2120 047
RK543AA F3 F3 F5 B . - PK543W 0.25 RKD507-A 04
RK544AA F3 F3 F5 " - > PK544W 0.3 RKD507-A 0.4
RK545AA F3 F3 F5 - = = PK545W 0.4 RKD507-A 0.4

RK RK566AA L - i F5 5 - PK566W 0.8 RKD514L-A  0.85

5phase RKS69AA E - - F5 - - PK569W 13 RKD514L-A  0.85
RK596AA - - : = F3 2 PK596W 1.7 RKD514H-A  0.85
RK599AA I : - - F3 - PK599W 28 RKD514H-A  0.85

RK5913AA = = = = F3 = PK5913W 38 RKD514H-A  0.85



HIWIN.,
28 K02TE10-1301

1.10.2 Motor housing and Motor adaptor Flange

KK&40

Motor housing FO

08 |

49
= PCD23 4-M3n0. 5PxEDP
TEJ% ! =8 ’fi'i“'\g/ \
=S | BT
T E 8 s-zllg! ga\Eer ;‘;%f
Motor adaptor Flange F1 Motor adaptor Flange F3
43 8 4 4-M4x0.7PXB.5DP ,PCD46 - Li2s Y sasThn,
"i_ - i DBx3.5DP
| I % Vi | |____1_ - .
=] ‘.E | ks — =l P “} st
— S| J | B H 15
B i T /‘g‘; hﬁ; """ 2 =
Motor adaptor Flange F2 Mount Housing HO
48 8.5 12 14.5
I I _J:.QZ Wsmi?s.snpﬁ;: i a s
=i L _dH L
— ] ____i_i& 8/ 4 = {2 He = g
] H & e |
§

Motor housing FO
2 S g(') PCD33, 4-M3x0.5PxE0P
765
1 i
T T T
____& _g w i/ =l II'
EE. il ‘:;:3‘:[ g: {?.":’ \ |T-7 |}l
— e NN T
o Sl
Motor adaptor Flange F1 Motor adaptor Flange F3
B C of -5/ ensor
! ! : | =
1] T E T oA 4-M3xD.5P Thru
=¥ —=1 4o,
— — | | b Y
Motor adaptor Flange F2 Mount Housing HO
60 8.5 PCD45, 4-M3x0.5PXEDP — 14168 49.4 4-M3x0.5PXBDP
| : . o N
¥ __‘Jl" ]l I - :;’,\ ‘ .l |ID I
| J oo ; \ —— @ ¥ i 2
IBE : %HF. i i JI' — ]: E] 3
=Y Ly D :
-5 7 _ >
8




HIWIN.
KO2TE10-1301 29

KKé0

Motor housing FO Motor adaptor Flange F3
= 58 =8 i
‘Lj_.:‘i_i.';if . PCD40  4-M4x0.7PXEDP 7 - 59 ‘{':L_ 4-M5x0.BP: 1ﬂDF/

]
|
|

=i 5 '

I s0
50
{—}

B

.
L2265 |
| @asges

3

Motor adaptor Flange F1 Motor adaptor Flange F4

58 10 AN TPXI0DP 58 10 A-M40.7Px10DP

! 3.5 PCD46 . /\, _lf___ . -g_-w:l_a_ 5

= A alds] LS & Nz
Ejﬂ HERR A :ﬁé};}_ §§ﬁ <R fﬁ
] _¢_ )
Motor adaptor Flange F2 Motor adaptor Flange F5 +g34Tm,
59 10 4-M3X05PX10DP 59 a 59.6 ¢ PEADE
35 D4 - <1 M
— N . —_:‘b‘//‘L{EI
iy EDN l % = 1 -"'I | \=|_ ]
;lﬂ;lg}g_ §-§% — Ej:l || i } 13
— f S ] Y

Mount Housing HO

i ——
= @
. 2 8= q-,&_/q, 2[
8l t
KK86
Motor housing F0
2!1!3 o AM&.7PxEDP 85 \ 20 e
g = il == T ]
B8 S & “‘“%;f-"" o B v Ll ST Te
= [ \Q‘ | ’ :U[ =i 858
= — _:'Q! 7! ; : - .‘.‘.!"' I / "4 "llll —' EEmmae !_I : L]
35 || T oonse \v s & - l
PCDED '\ 4-MEx0.8Px10DP SR
Motor adaptor Flange F1 Motor adaptor Flange F5
87 10 a7 s
= T 85 e ___53
18 18
"IBJ i i w" Ir[ —
;r[* || | o a — ‘ ! ] ﬂs N
— ]| 885 — 1] &85
Motor adaptor Flange F2 Motor adaptor Flange Fé
- o T
28 _ a5 : 28
JLFJE_ , = K]
T ] e s 2 —U. =
ﬂ 1] Sel g ' —1 || i
- \ =" IR
Motor adaptor Flange F3 Mount Housing HO
- 87 g _28
23 50 E: 18 |
[ 28_ 8

i

—|

-
o
@46
62
i
=
= __‘347[
31 |
6 |
[ |I
|
2140h8

@Bh7

PCD45 |
4-M340 5PxBDP



HIWIN.,
KO2TE10-1301

KK100

Motor housing FO

30

9%
27 45
.32 99
4-M5x0.8Px10 DP
= o __ PCD.TO
= !
BN ] s
| ".-_-EQ
= = bk N
— P18
Motor adaptor Flange F1
# 12 4-Méx1Px12 DP
| 3s C U PCDS0 280
|
i T -
{ 25 ;
| I - 5 o] U ||
1] | o
= . S 5 o -—1
_| 1
Motor adaptor Flange F2
94 2
i 28 4-M5x0.8Px12 DP
j : S e |
g 1 o e
il - =%
- = S 8
=*| d 1|l =
]
Motor housing FO
100
R =t B-MexIPxiZOP - 153+
29 L]
1 5
T 8
— | (A rw
— = 1 - E’\g
Motor adaptor Flange F1
1m0 g2
T T
o 85
Motor adaptor Flange F2
100 15 4-26.5x150P 128
U

Motor adaptor Flange F3

94 12

| "
] | gl
L 2=
¥ o
| -0
| a2

=
|

Motor adaptor Flange F4

082
9% 12 .82
25 4-Méx1Px12DP .ﬂ.]
: = =% —
-L ; = —l_: ==
= I Ty o =2
| — - | ' =2 = -
=] . N 2 o =
d 2 ° °
Mount Housing HO
5%
27 32
1. T 77|
- =
&
Motor adaptor Flange F3
100 12 4-Méx1Px12DP
3.5
ll_ 12
= a5l 1 _§§
Motor adaptor Flange F4
100 4-M5x0.8Px12DP 1?9
3.5 92
I i
= 3 33#]
el
HE

Mount Housing HO

b4
35_ 29
23

[ =
o~

@15h7

83




HIWIN.
KO2TE10-1301 31

1.11 Optional Accessories

o ]

i

|

Unit : mm
Nominal Width Rail Length Stroke Min. Max. a b C d
100 35 16 51
KK40 150 63 27 90 60 29.5 19 33
200 93 37 130
150 60 21.5 81.5
KK50 2 2 & 128 62 37 19 47
250 130 36.5 166.5
300 160 465 206.5
150 56 16 80
200 106 20 126
KK&0 300 160 “ 206 84 45.5 24 54
400 234 56 290
500 306 70 376
600 366 90 456
340 188 36 224
440 260 50 310
KK86 54? 3Ef 22 328 110 61 32 75
Dau Guo fo Ho4
740 480 90 570
940 640 110 750
980 769 58 827
1080 855 65 920
KK100 1180 945 70 1015 150 73 41 25
1280 1029 78 1107
1380 1115 85 1200
980 748 62 810
KK130 S i i i 180 89 53 108
1380 1084 94 1178

1680 1346 113 1459



HIWIN.,
32 KO2TE10-1301

1.12 Switch . 6
< B 4.2 o
]
: : ]
Switch rail [
&l N

Switch
Nominal Width a b C d e f
KK40 5 54.1 0.5 10.8 15.3 12
KK50 455 59 1 10 15 1
KK60 51 6358 4 145 8 13
KK86 635 7.7 8 18 8 18
KK100 7 84 10 20 9 20
KK130 B85.5 98.5 14 24 0.5 23

Switch 1 : Omron EE-SX671

Nominal Width a b g d e f
KK40 36.5 44.3 1 9.8 10.5 12
KK50 41.3 48 1 10.5 10.2 "
KK&0 46.2 52.8 4 14 3.2 13
KK86 59 65.7 8 18 3 18
KK100 66 73 10 20 4.2 20
KKI130 80.8 87.5 14 235 -4.1 23.5

Switch 2 : Omron EE-SX674

Nominal Width g h i i
KK40 40 55 13.5 5.5
KK50 395 5.7 7 19.5
KK&60 44.5 9 2 4
KK86 57 13 1 13
KK100 64.5 15 2.5 15
KK130 79 19 -6 19

Switch 3, 4 : SUNX GX-F12A, SUNX GX-F12A-P



